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QUESTION 1

Click the Exhibit button. 

An administrator is attempting to map an iSCSI LUN to a Windows 2012 host, but the windows host fails to discover the
iSCSI targets. 

Referring to the exhibit, what is the connectivity problem? 

Exhibit: 

A. The iSCSI service is running on svm1, but iSCSI is not licensed on the nodes. 

B. The iSCSI LIFs are not currently on their home port. 

C. The iSCSI LIFs are currently disabled. 

D. The LIFs do not have a failover group defined. 

Correct Answer: A 

 

QUESTION 2

Click the Exhibit button. 

Referring to the exhibit, which entry is appropriate to add to a zone on the FC switch? 

Exhibit: 
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A. 20:05:00:a0:98:29:18:76 

B. 20:10:00:a0:98:29:18:76 

C. 20:14:00:a0:98:29:18:76 

D. 50:10:00:a0:98:29:18:76 

Correct Answer: A 

 

QUESTION 3

Exhibit 

cl01::>igroup show -vserver svm1 VserverIgroup Protocol OS Type Initiators svm1 esx_cluster mixed vmware 

20:00:00:25:b5:11:a0:01, 

20:00:00:25:b5:11:b0:01, 

iqn.1998-01.com.vmware:esx02 

cl01::> 

A customer is provisioning storage for two ESXi hosts using FCoE with CNA adapters. The customer mapped the LUN
to the igroup shown in the exhibit. After scanning for new devices, the LUN is only seen by one of the ESXi hosts. 

What caused the problem? 

A. One of the hosts is added in the igroip via iSCSI IQN. 

B. The igroup protocol needs to be configured as FCP. 

C. The switch zoning configuration does not include the correct initiators. 

D. The LIFs are not on their home ports. 
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Correct Answer: A 

 

QUESTION 4

You are troubleshooting a node that had a core dump. The HA partner took over and you successfully performed a
giveback. You need to get access to the core files. 

Which two locations will give you access? (Choose two.) 

A. /mroot/etc/crash 

B. https:///spi/ 

C. https:// 

D. /mroot/etc/log 

Correct Answer: A 

 

QUESTION 5

What is installed on your Linux host when you install the Linux Unified Host Utilities 7.0? 

A. drivers and firmware 

B. software iSCSI initiator 

C. SAN Toolkit data collection utility 

D. nSANity 

Correct Answer: C 
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